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Exercice 1:

Calculer:
(1) 6(1,3,2) +2(2,1,4,1) (i) 3(1,2,3) —2(3,1,1) +a(2,1,2).
(iii) < (1,3,5,2)](2,1,3,—4) > (iv) |(2,1,-1)]| .
(v) (1,3, = )||+H(4 =3 (i) d((1,3):(3,2,1)).
(vii) d((1,2);(3,3)) (viii) < (3,-1,2)](2,1,-1) > +|(4,0,-3)|| .

Exercice 2:

Déterminer a et b tels que:
(i) (2,14 a,a+b) = (1,3,0) +2(0,-2,1).
(i) (1,a,a —b) = 2(1,3,0) — (1, -2,1).
(iii) |(1,=v2,14a)|| =
(iv) d ((a,0,1);(1,2a,0)) =

Fxercice 3:
Résoudre les systemes suivants (en fonction de «):
T+y=2 2r4+y—2=2
(i) y+z=-3 (i) ¢ 2x+2y=4
2 — 2y =16 —x+y/2+3z/2=1

2r+y—3z=-1 r+2y—z=3
(iii) —+3y+22=7 (iv) 8 z+4+3y—32=2

3x+5y—4z=2 —2rx—-3y+z=-4

2r—y+z+t=-1 o
r+y—2z4+3t=5 T3yt =2

(v) 42 —t—=0 (vi) 3r+y—2=2
Zix—y—l—z—t:—él ar+3y+2z=a+1



